N & 0 & At

o

3 Al A

=
20219 &= =2 0l&r LeHal A
&3 M
2 N =R
3 A ANEZ A (=&
= = = d =
ARE - RM - FH - GA(SA) - MEAY - HES 0l &k o e HRE2
=X &M 27,851,358 27,713,254 138, 104
= 12,633,230
=) 1,170,000
J| 1,000,000
Al 13,048, 128
=XNEZ=ZAME 776,786 671,485 105,301
= 50,000
Al 726,786
S A=A 776,786 671,485 105,301
= 50,000
Al 726,786
MR =H =AY 588,786 408,485 180,301
201 LEH2HHI 5,000 5,000 0
01 AFR2telbl 5,000 5,000 0
Otz XZ0l 2l 5,000, 000& 5,000
202 (4 Bl 3,186 3,095 91
01 2 LHO BI 3,186 3,095 91
OMEBA =8 S3AY SBEHZ S 3,186,000 3,186
203 Y =&l 3,600 3,600 0
03 Al =&Y L= 3,600 3,600 0
O AN=s3 AHEFA 3,600,000 3,600
403 X HM S H=01H 577,000 376,790 200,210
01 AXIEHAZ2E X 577,000 376,790 200,210
OUE 2 MY BAM(EOUA, 218 Al)
250,000, 000& 250,000
OEWEE 2 62 2 =4 (00, '218HA1)
75,000, 000& 75,000
O88 82 X (F0H0a, '218HA1) 7,000,000 7,000
OEHMAHE RIXT OK! 2EOM SHEEH (FA0A
, ' 218HAl) 20,000, 000& 20,000
OJt2= XXC0 2T X (FO00a, 218HAl)
15,000, 000& 15,000
O AtMA 2372 ZAANY 'Z210 A2 =2
2 A2 4 (20 0la, '218HA1)45,500,000& 45,500
O2XXZ 0t &8 =L (F00&H, '218HA1)
30,000, 000& 30,000
O=clsu s4Hel '&Z0122 s 24 (20
AF,T218HAL) 64,500, 000& 64,500
OJt2< AtOIALOl #HOol U= =2 22 HEI((
ZO 0l &F, '218HAl) 15,000, 000& 15,000




23 MEHHAAZ

Mo =sXI&E 30
M =B AE

ARG - 2A - B - BA(AA) - HRMY - BES Ol &k o e HRE2
O&g1s Horst AE SO (Z0 oA, '218HAl)
10,000,000& 10,000
OMZB AZRACZE =HA(FAHULH, '218HAl)
20,000,000& 20,000
O=0l 2FI 28ct) & = U= SFZHE(F0
Ol &F, "218HAl) 25,000,000& 25,000
QISR E =3ALY 88,000 98,000 A 10,000
201 LEH2HHI 48,000 58,000 A 10,000
03 A2 S HI 48,000 58,000 210,000
Oold ZHEAlS 48,000,000 48,000
307 glz2tol & 40,000 40,000 0
02 2B HAMHEX 10,000 10,000 0
OFEAUEINRI ALUE 3 10,000, 000& 10,000
04 QIZFHALAIH E X 30,000 30,000 0
OdA=2st=dZ 0l8gds 228298 4 82
30,000,000& 30,000
SIosd ZEAMY 75,000 75,000 0
= 50,000
Al 25,000
403 X HM S =01 H 75,000 75,000 0
= 50,000
Al 25,000
01 AHXESHHA2ER 75,000 75,000 0
Of3stsdt ZdAY 75,000, 000& 75,000
= 50,000
Al 25,000
EM Itz =4 25,000 0 25,000
403 X HMSH=201H 25,000 0 25,000
01 AHXESHHA2ER 25,000 0 25,000
OQFEME = Jt25 =8 S3hAL 25,000,000 25,000
ArEFAZ2 Y AT IR 27,011,672 26,978,989 32,683
= 12,572,819
s 1,170,000
J| 1,000,000
Al 12,268,853
AHS THOH Ol & = 3,415,824 3,763,577 AN 347,753
= 2,053,023




S EEE-E D
2 N =XFHDY
oM NYUEYTA YL SYTEIRD) (B9 @2
ARG - 2A - B - BA(AA) - HRMY - BES Ol &k o e HDE 2
BN ETEER 2 420,000
A 942,801
Al X & 227,500 227,500 0
2 175,000
Al 52,500
403 XX €7 S Xt 2 0] & 227,500 227,500 0
2 75,000
A 52,500
01 XEXICHA Xt 2 & = 227,500 227,500 0
OA e 227,500,0002! 227,500
2 175,000
Al 52,500
AbEEHERE S B O 3,922 3,922 0
2 2,745
Al 1,177
401 NI HI 2 2 TH Bl 3,922 3,922 0
= 2,745
Al 1,177
01 Al Hl 3,922 3,922 0
OA e Etgt g mO} 3,922, 0008 3,922
2 2,745
Al 1,177
ALl & ErE & B O 15,689 15,688 1
2 10,982
Al 4,707
401 A& B 2 2 TH bl 15,689 15,668 1
2 10,982
Al 4,707
01 Al gl 15,689 15,688 1
OAME A EFE & B O} 15,689,0002! 15,689
2 10,982
Al 4,707
NENEERESEIGTETESD 705,274 705,274 0
2 542,519
Al 162,755
403 X XI EHHI S X2 01 & 705,274 705,274 0




AR MRS
2 N =XFHDY
oM NYUEYTA YL SYTEIRD) (2@ 8)
ARG - 2A - B - BA(AA) - HRMY - BES Ol &k o e HDE 2
403 XEXI S H S X2 0| & 2 542,519
Al 162,755
01 XA 2L 705,274 705,274 0
ONREH 705,274,000 705,274
2 542,519
Al 162,755
AFEEAIE F 2 4,605 0 4,605
2 3,542
Al 1,063
308 XX £+ H S 01 & 4,605 0 4,605
2 3,542
Al 1,063
0 HASHIHEES 4,605 0 4,605
OANAE BT 4,605,000%! 4,605
2 3,542
Al 1,063
STIAE A& (XIR) 73,710 73,710 0
2 56,700
A 17,010
403 XEXI S H S X2 0l & 73,710 73,710 0
2 56,700
Al 17,010
01 HXSARZEE 73,710 73,710 0
QLTI ALY Al& 73,710,000% 73,710
2 56,700
A 17,010
NELHLUHS (HAE AL AlE) 289,772 289,772 0
= 222,902
A 66,870
403 XEXI S H S X2 0 & 289,772 289,772 0
2 222,902
Al 66,870
01 REXICHAI Xt =2 2 5 289,772 289,772 0
OMAEHAST (NEHUHLHSAY) 289,772,0008 289,772
= 222,902
Al 66,870




(=l
FYBI U AT

8- 2H - ZH-G(EH) - HRAY - HES 0l ko e 52

NEANLHS(oH A AL T ALY EFSHEOL) 3,921 3,921 0
= 2,745
Al 1,176

401 A& HI 2 2 0HYI 3,921 3,921 0
= 2,745
Al 1,176

01 Al&H 3,921 3,921 0
OHOHE Al BRI ALES EFE &I B O 3,921,000 3,921
=2 2,745
Al 1,176

AP THOH D Rkl SOl (AHAFER S 2Ol & ) R 94,633 62,235 32,398
= 65,264
Al 29,369

308 MXIHMSOIH 94,633 62,235 32,398
= 65,264
Al 29,369

01 AXESHHINEES 94,633 62,235 32,398
ObtE THoH L X2l (AFAFER S & 0l 2 &) 94,633,000 94,633
= 65,264
Al 29,369

AP THOH 2 el SOl (M0 YRS ) 1,163,689 1,146,029 17,660
= 802,544
Al 361,145

308 XtXIHMSO0I& 1,163,689 1,146,029 17,660
= 802,544
Al 361,145

01 AXESHHINEXRZ 1,163,689 1,146,029 17,660
OM=Ed2 0t 1,163,689,000& 1,163,689
= 802,544
Al 361,145

MNEAEARY 17,300 18,000 A 700

201 L B2 F Hl 15,000 15,000 0

01 At 22ltl 9,500 9,500 0
O= &l 5,000, 000& 5,000
Ol =t 1,500, 000& 1,500
Oggr=2Hl 3,000,000 3,000




AR HSAXPIHI
2 M =TI
o MEEYBA L MR (298 8)
ARG - 2A - B - BA(AA) - HRMY - BES Ol &k o e HDE 2
02 BTl 5,500 5,500 0
OUEXH AR 4,500,0002 4,500
ONSHEE NI NIRSS 1,000,008 1,000
202 01t 2,300 3,000 A700
01 2ol 2,300 3,000 A700
OttE o ax22l ol 2,300,000%! 2,300
SEYUNB(ZA) ZAIIBES 15,080 15,080 0
2 10,400
Al 4,680
308 XX €A S 0| & 15,080 15,080 0
2 10,400
Al 4,680
R ERERNEES 15,080 15,080 0
OIS &5 (YY) 15,080, 0002 15,080
2 10,400
Al 4,680
SEYROB(XE) 2AI|BES 34,800 0 34,800
2 24,000
Al 10,800
403 XX EHHI S X2 0| & 34,800 0 34,800
2 24,000
Al 10,800
01 XS 2L 34,800 0 34,800
OZADIS =S (Xg) 34,800,0002! 34,800
2 24,000
Al 10,800
SEYUNHE(FA) Wz 22,330 111,940 89,610
2 15,400
Al 6.930
308 XX €A S0/ & 22,330 111,940 £89,610
2 15,400
Al 6,930
01 MAESHBLSE 22,330 111,940 289,610
OTHLrar g 2ial (YY) 22,330,000% 22,330
2 15,400
Al 6.930




(=l
FYBI U AT

8- RA - FH-SI(BH) - HEAY - BAS e HDE2

APS EEXICHE (XF2 ) TH & & 2t e 11,310 370,620 A 359,310
= 7,800
Al 3,510

403 X HHM S =01 H 11,310 370,620 A 359,310
= 7,800
Al 3,510

01 AXESHHA2ER 11,310 370,620 A 359,310
OMa g2 (XHe) 11,310,000& 11,310
= 7,800
Al 3,510

AEURUH(FA) MY &S 82,650 0 82,650
= 57,000
Al 25,650

308 AtXIEHHM S0l & 82,650 0 82,650
= 57,000
Al 25,650

01 AXESHHINEES 82,650 0 82,650
OSSN (FA) JstEH =S 82,650,000& 82,650
= 57,000
Al 25,650

AEUXUH(X2) XeHEY &S 42,630 0 42,630
= 29,400
Al 13,230

403 X HMSH=01H 42,630 0 42,630
= 29,400
Al 13,230

01 AXIESHA2ER 42,630 0 42,630
Ot XM (Xte2) MatEH &S 42,630,000 42,630
= 29,400
Al 13,230

ASURNUHH(LY) RESH 28 6,960 0 6,960
= 4,800
Al 2,160

308 AtXIEHHMS0IH 6,960 0 6,960
= 4,800
Al 2,160
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E=Kcl

2

(-

9 APRI TR OER |

ARG - 2A - B - BA(AA) - HRMY - BES Ol &k o e HRE2
YA (ZFA)(LEEetEddE8IxE) Al 429
201 L Bt29H] 1,429 1,429 0
s 1,000
Al 429
01 AtR2teldl 1,429 1,429 0
LEEEH B 1,429,000 1,429
s 1,000
Al 429
LACAME (PN (MH2)(HE-XH)(HEAL) 65,829 65,829 0
403 X HHM S =01 H 65,829 65,829 0
01 AHXESHHAZ2EXR 65,829 65,829 0
O TN (SX2) 65,829,000& 65,829
AT AE (L AL (2 )RH) 478,857 478,857 0
s 419,000
Al 59,857
403 AXISH M EX=201E 478,857 478,857 0
Eas 419,000
Al 59,857
01 AXIESHMAZ2EXR 478,857 478,857 0
oLz alA (23st2) 478,857,000 478,857
s 419,000
Al 59,857
YT AL (ZA) (L2 (HE-X2)(HEAY) 13,714 13,714 0
308 AHXIHHM S0l & 13,714 0 13,714
01 AXNSEHBEXS 13,714 0 13,714
Oz (SaZ) 13,714,000& 13,714
MEH BESEY 5,192,834 7,533,874 A 2,341,040
= 3,834,074
Al 1,358,760
Alsg ATHS AL 40,432 40,432 0
401 Al EHI & 2 Y| 40,432 40,432 0
01 A& HI 40,000 40,000 0
Ooa=sg ATHSA 40,000,000 40,000
03 AlZ 201l 432 432 0
Oal=g ATHS AL 20l 432,000 432
5,000 5,000 0

T OHE &AM




AR MRS
2 N =XFHDY
oM NYUEYTA YL SYTEIRD) (B9 @2
ARG - 2A - B - BA(AA) - HRMY - BES Ol &k o e HDE 2
206 T 2 5,000 5,000 0
01 T2l 5.000 5,000 0
O30 #A HER LI 5,000,000%! 5,000
ZYOIMSA M2 X8) 343,200 700,700 357,500
2 264,000
Al 79,200
403 XIS H S X2 0l & 343,200 700,700 357,500
2 264,000
Al 79,200
01 XEXICHA Xt 2 & = 343,200 700,700 357,500
OO H2XE 343,200, 0002 343,200
2 264,000
Al 79,200
TY(2UREY) 180,082 39, 162 140,920
2 138,525
Al 41,557
403 XEXI S H S X2 0| & 180,082 39, 162 140,920
2 138,525
Al 41,557
01 RXICHH X2 E 180,082 39, 162 140,920
SEINLES 180,082,000 180,082
2 138,525
Al 41,557
T (ST S AYIIRI) 135,310 270,621 £135,311
2 104,085
Al 31,225
403 It H S 20 & 135,310 270,621 £135,311
2 104,085
Al 31,225
01 REXISHA Xt 2 & 5 135,310 270,621 A135,311
OXNHSsxa (4X4ZIRI|) 135,310,008 135,310
2 104,085
Al 31,225
=R ESES] 869,698 836.330 33,368
2 668.998
Al 200,700




NV EEE
=X3H 0
NYESTI Y AR CEERED
8- 2H - ZE-GS(BH) - HRAY - BYS 0l &+ o HI RS 2
403 X HMSKH=01H 869,698 836,330 33,368
= 668,998
Al 200,700
01 AHXESHHA2ER 869,698 836,330 33,368
OO0 e LIS It3 D] 29,869,000& 29,869
= 22,976
Al 6,893
O X1 667,072,000& 667,072
= 513,132
Al 163,940
Odt 20 =2tR0I 172,757,000& 172,757
= 132,890
Al 39,867
OIMRX 2=t (X 13,560 37,968 A 24,408
= 6,780
Al 6,780
401 Al EHI & 2O HI 13,560 37,968 AN 24,408
= 6,780
Al 6,780
01 A& HI 13,560 37,968 A 24,408
ODIM X 2=IHRII( 13,560,000& 13,560
= 6,780
Al 6,780
OlAI A S=0110| 1,172,262 1,949,657 ANTT7,395
= 901,740
Al 270,522
403 AtXISHHS K201 A 1,172,262 1,949,657 ANTT7,395
= 901,740
Al 270,522
01 AtXIESHA=Z2E X 1,172,262 1,949,657 ANTT7,395
O0IMYX SA=IHRII(XA) 1,172,262,000& 1,172,262
= 901,740
Al 270,522
MEAMNBIAER0I2EXNE(HE 21,124 62,496 A41,372
= 10,562
Al 10,562




NEEPEED
=X &2
NYESBI L AP TEITI] L
8- S2A - BE - HA(SH) - MEAY - HYS Of o o8 e 52
101 @124 4| 21,124 62,496 AN41,372
= 10,562
Al 10,562
04 JI2ZtHI22 S E=> 21,124 62,496 AN41,372
O==2¥20UO0HRE 1Y) 21,124,000& 21,124
= 10,562
Al 10,562
MEAUAS RO 2G XA (KH) 164,776 135,408 29,368
= 126,750
Al 38,026
308 AtXIEHHMS0IH 164,776 135,408 29,368
= 126,750
Al 38,026
01 AXESHBIHEES 164,776 135,408 29,368
OSA=X 23 (KA) 82,386,000& 82,386
= 63,374
Al 19,012
O=MEf 22| (XI&) 13,732,000 13,732
= 10,563
Al 3,169
O+==2dZ20UI0IH(XIE) 13,732,000& 13,732
= 10,563
Al 3,169
Og&=2 LU0 (XI) 27,463,000& 27,463
= 21,125
Al 6,338
O=2ZS&X T AHKXIE) 27,463,000 27,463
= 21,125
Al 6,338
ZHEMBSRNMBIAE2IXNA(HY) 128,232 153,000 N24,768
= 64,116
Al 64,116
307 glz2tol & 128,232 153,000 N24,768
= 64,116
Al 64,116
05 QItAEZ 128,232 153,000 A 24,768




S EEE-E D
2 N =XFHDY
oM MEBYBIA Y MYTRINRI) (B9 @2
ARG - 2A - B - BA(AA) - HRMY - BES Ol &k o e HDE 2
O HEMEEXNHSAAL 2SR (XE)
128,232,0008 128,232
2 64,116
Al 64,116
SHLEMLESXNHSYASL2S N (NE) 116,693 49,725 66,968
2 89,764
Al 26,929
308 XX £+ H S 01 & 116,693 49,725 66,968
2 89,764
Al 26,929
01 HASHALSES 116,603 49,725 66,968
O2NEMNYSNHSAALSLX A (XH)
116,693, 0002 116,603
2 89,764
Al 26,929
S0EDS2Y(HE) 179,700 153,000 26,700
2 89,850
Al 89,850
307 01 2H0| & 179,700 153,000 26,700
2 89,850
Al 89,850
05 2I2t9IEr 3 179,700 153,000 26,700
OR02DS2Y(HE) 179,700, 0002 179,700
2 89,850
Al 89,850
Q0HDESY(NR) 200,239 99,450 100,789
2 154,030
Al 46,209
308 Xt X £+ H S 01 & 200,239 99,450 100,789
2 154,030
Al 46,209
0 HASHIAHEES 200,239 99,450 100,789
OR0tzDE2Y (XH) 200,239,0002! 200,239
2 154,030
Al 46,209
NEBEEEELEEIOED 10,411 10,279 132
= 10,411




E=Kcl

2

(-

ERNS=DNS= B ]

8- RA - BH - G(SH) - NSAY - By Ol &t o o H RS2

308 XtXIHMSO0I& 10,411 132
= 10,411

01 AXESHHIHNEES 10,411 132
OMREZIEHEBS 10,411,000& 10,411
= 10,411

SMHAS AL S 200,000 A 200,000
= 160,000
Al 40,000

403 X HHMSHE0IH 200,000 A 200,000
= 160,000
Al 40,000

01 XS AA2E=E 200,000 A 200,000
OSTHAS AL S 3t 200,000, 000& 200,000
= 160,000
Al 40,000

FHE SHEIL2LH B 4,000 220,000
= 2,400
Al 1,600

403 At XIS M S K201 A 4,000 A 20,000
= 2,400
Al 1,600

01 RXESHH A2 E 4,000 A 20,000
OFggsNEs gy 4,000
= 2,400
Al 1,600

MI=XE2 STHESIEL] E2 7,800 0
= 6,000
Al 1,800

403 X SHMSHE01H 7,800 0
= 6,000
Al 1,800

01 AXSHHA2E=E 7,800 0
OMIEXNE SHEIZ L 7,800
= 6,000
Al 1,800

SHOISEHZANIMES S 24,600 0




EERR-EVEED
M SXIE
BOMNEEYT Y SRR CERE
AN - 2N - FH - SHA(SAH) - MREAY - BES Ofl &+ o Oaﬂgi Hns
SHOISYUBARKESY = 24,600
308 X+ X £t H S 0| & 24,600 24,600 0
= 24,600
01 RXSHBLEES 24,600 24,600 0
OSWOISLANANESS 24,600,0002 24,600
= 24,600
SUHE BH22 (W) (2F) 6,100 16,000 100
= 16,100
308 X+ Xl EH I S 0| & 16,100 16,000 100
= 16,100
01 RXSHBLEES 16,100 16,000 100
OSHHE Bxcts 16,100, 0002 16,100
= 16,100
AYTHLRE B (MEHHSHELRC) (B ) 116,415 115,216 1,199
= 89,550
Al 26,865
308 X+ X EHH S 0| & 116,415 115,216 1,199
= 89,550
Al 26,865
01 HXESHBLRES 116,415 115,216 1,199
OMNHHBLHME 116,415,0008 116,415
= 89,550
Al 26,865
MYTHHL TR I (MNP HHS R LR (RH2) 4,004 4,004 0
= 3,080
Al 924
403 T X A S X201 & 4,004 4,004 0
= 3,080
Al 924
01 MXISHAX 2 S 4,004 4,004 0
OMBHHBLHS 4,004,0002 4,004
= 3,080
Al 924
MYUHHBLR (AL S SH)(HT) 23,257 23,257 0
= 16,280
Al 6,977




S EEE-E D
2 N =X
oM MEBYBIA Y MYTRINRI) CERED
AN - 2N - FH - SHA(SAH) - MREAY - BES Ofl &+ o Oaﬂgi Hns
101 Q124 ] 23,257 23,257 0
2 16,280
Al 6,977
04 JAHB2RSES 23,257 23,257 0
OLLSHESYM(ZSSAMRE 1Y)
23,257,000 23,257
2 16,280
Al 6,977
NYUHHELM(ALUSHASLH)(X) 99,562 127,906 £28,344
2 89,720
Al 9,842
308 XXl EHH S 0| & 99,562 127,906 ~28,344
2 89,720
Al 9,842
01 HXSHMBAEES 99,562 127,906 A 28,344
OAURMWASH SR (S2FAM) 99,562,000 99,562
2 89,720
Al 9,842
NYHHESH (L HHBLR(NE)) 32,397 32,397 0
2 17,495
Al 14,902
401 Al & B L2 0 32,397 32,397 0
2 17,495
Al 14,902
01 Al& bl 32,397 32,397 0
OLBIHHBLM(HE) 32,397,000 32,397
2 17,495
Al 14,902
NYHHSLH (L EHELR(NR)) 563,492 966, 136 ~402,644
= 447,198
Al 116,294
308 X+ X EHH S 0| & 563,492 966, 136 £402,644
=2 447,198
Al 116,294
01 HASHALEES 563,492 966, 136 £402,644
OB B ST (L) 563,492,0002! 563,492




AR HSAXPIHI
2 M =TI
o MEEYBA L MR (298 8)
ARG - 2A - B - BA(AA) - HRMY - BES Ol &k o e HDE 2
2 447,198
Al 116,294
WEEL 1] 2,236 2,236 0
201 2er2 | 2,236 2,236 0
01 At Br2lH| 2,236 2,236 0
SEET 1,736,0002 1,736
Oger+g| 50,0002 500
MEAL2HEXE 26,000 26,000 0
2 20,000
Al 6.000
308 XX S A S 0| & 26,000 26,000 0
2 20,000
Al 6.000
01 MXESHBLSES 26,000 26,000 0
ONBAL2TE 26,000,002 26,000
= 20,000
Al 6.000
AYS 2¢ 0|SHE ZASY 109,252 107,827 1,425
= 84,040
Al 25,212
308 X XI € X S 0| & 109,252 107,827 1,425
= 84,040
Al 25,212
01 RACSHBLBES 109,252 107,827 1,425
OLYR PL0ISHE 2229 109,252,000%! 109,252
= 84,040
Al 25,212
NEZRed 29 96,000 86,000 0,000
= 96,000
308 X} XI € M S 0| & 96,000 86,000 10,000
= 96,000
01 HAESHBNEES 96,000 86,000 10,000
OAEIHHI A0k 2121 96,000, 0002 96,000
= 96,000
254 MSHANS MY 50,000 50,000 0
403 THXI & H S XHE2 01 W 50,000 50,000 0




AR MABHALS
2 M SNEHY
oM NYUEYR YL AYTEIRI] CEERED
RS - A - FEH - GA(SH) - HRAY - BHYS 0l &+ o HI RS 2
01 HXESHHAZ2ER 50,000 50,000 0
OEs+ & 50,000, 000& 50,000
Heo 85 AEBHZAL 24 100,000 0 100,000
207 & S 2 h| 100,000 0 100,000
01 22 E I 100,000 0 100,000
OHSMES HMEHZAMN E2H 100,000, 000& 100,000
X2 REs & 2E+Y 3,000 3,000 0
201 LEr2IH| 3,000 3,000 0
01 AFR2teltl 3,000 3,000 0
Od X2l Rde & 29+ 3,000, 000& 3,000
HdE=SE SFMLEAMS 12,000 12,000 0
= 10,000
Al 2,000
403 X HHMSHE01H 12,000 12,000 0
= 10,000
Al 2,000
01 XM= X 12,000 12,000 0
O Sestg AN (RHaret X 2+) 12,000,000 12,000
= 10,000
Al 2,000
AR 22| 122,000 0 122,000
= 122,000
308 At XIHHMS0IH 122,000 0 122,000
= 122,000
01 AXNSHBLEES 122,000 0 122,000
OUMAMSE L XS 122,000, 000& 122,000
= 122,000
MEINLY TS =4 18,403,014 15,681,538 2,721,476
= 6,685,722
s 750,000
J| 1,000,000
Al 9,967,292
RSty 8,155 0 8,155
= 4,660
Al 3,495
403 X HMSHE01H 8,155 0 8,155




AR MRS
2 N =XFHDY
oM NYUEYTA YL SYTEIRD) (2@ 8)
ARG - 2A - B - BA(AA) - HRMY - BES Ol &k o e HDE 2
403 XEXI S H S X2 0| & 2 4,660
A 3,495
01 AXIEHM A= E X 8,155 0 8,155
OYUBREINYEY 8.155,000% 8,155
2 4,660
Al 3,495
HHYNSROBEH 1,064 140 924
2 608
Al 456
403 XEXI S H S X2 0| & 1,064 140 924
2 608
Al 456
01 RXICSHA K22 1,064 140 924
OL YA M A DH SOIK S 1,064,000%! 1,064
2 608
Al 456
NRH A% 8 (H-TR) (M) 450,000 1,630,000(  A1,180,000
403 XEXI S H S X2 0| & 450,000 1,630,000{  A1,180,000
01 XEXICHA Xt 2 & = 450,000 1,630,000] 1,180,000
oYMz X4 (M- ) 450,000, 0002 450,000
A@IB Ol A& & X 1,000,000 1,090,000 £90,000
| 1,000,000
403 XEXI S H S X2 0| & 1,000,000 1,090,000 90,000
| 1,000,000
01 HXSAT 2L 1,000,000 1,090,000 290,000
SH L5 X4 1,000,000, 0002 1,000,000
| 1,000,000
DM XEEEs 2,472,000 1,830,000 642,000
2 1,648,000
Al 824,000
403 XIS H S X2 0 & 2,472,000 1,500,000 972,000
2 1,648,000
Al 824,000
01 REXICHA Xt 2 & = 2,472,000 1,500,000 972,000
ODIMEN Xes £4 2,472,000,0008 2,472,000
2 1,648,000




AR MRS
2 N =XFHDY
oM NYUEYTA YL SYTEIRD) (B9 @2
ARG - 2A - B - BA(AA) - HRMY - BES Ol &k o e HDE 2
Al 824,000
SABERE E4 6.750.000 7,500,000 A750,000
2 4,500,000
Al 2,250,000
403 HXI S H S 20 & 6,750,000 7,500,000 A750,000
2 4,500,000
Al 2,250,000
01 XEXICHA X2 & = 6.750.000 7,500,000 750,000
OSAbHE 2% X4 6,750,000, 0002 6,750,000
2 4,500,000
Al 2,250,000
DIMEIN M2 Al ASHSI S8 (A FRA) 20,000 0 20,000
2 10,000
Al 10,000
201 Lt 2 bl 14,000 0 14,000
2 7,000
Al 7.000
01 AR 22| 14,000 0 14,000
ODIMEX X2 AL ASHSI FH (ASFAA)
(0101 A, 2181 Al) 14,000, 0002 14,000
2 7.000
Al 7.000
206 TH 2 bl 6,000 0 6,000
2 3,000
Al 3,000
01 T2l 6,000 0 6,000
OO X2 AL ASEHSI FH (AL
(0101 A, '218HAl) 6.000,0002 6,000
2 3,000
Al 3,000
ADHEJIE EHAHY 600,000 0 600,000
2 300,000
Al 300,000
403 XEXISHH S X2 0| & 600,000 0 600,000
2 300,000
Al 300,000




NEEPEED
=X &2
NYESBI L AP TEITI] o H)
8- S2A - BE - HA(SH) - MEAY - HYS Of o o8 e 52
01 HXESHHAZ2ER 600,000 0 600,000
OABEIE AXIALE 600,000, 000& 600,000
= 300,000
Al 300,000
AHeta el &4 300,000 0 300,000
= 200,000
Al 100,000
403 X HMSH201H 300,000 0 300,000
= 200,000
Al 100,000
01 RXESHHA2E = 300,000 0 300,000
OXtHetal Dl =4 300,000, 000& 300,000
= 200,000
Al 100,000
Sot=dsSdxg2el(IN2) (- )(HEAMY) 585,000 585,000 0
403 X HHMSHE0IH 585,000 585,000 0
01 AXIESHA2EX 585,000 585,000 0
SO=MEI TS 585,000, 000& 585,000
&8 XRos =& (X2)(de&-2F)(HdeAe) 200,000 200,000 0
401 Al EHI 2 2 CHYI 200,000 200,000 0
01 Al HI 200,000 200,000 0
Ogd Xss= =4 200,000, 000& 200,000
CIMEdd 28 A8 S ¥ ZEE &X 30,000 0 30,000
401 A& HI 2 20 YI 30,000 0 30,000
01 A& HI 30,000 0 30,000
OUEANZISaZ 2FUF AHZISEW & Z&E
& dXAZ 30,000, 000& 30,000
=2 Zgze(MH2)(HeE-XJ)(HEAd) 965,000 650,000 315,000
403 X SHHM S U201 ™ 965,000 650,000 315,000
01 HXEHMU=EE 965,000 650,000 315,000
Os2ZxTd&2 (M) (XH) 965,000, 000& 965,000
Zeheh Fa 52 FHIAY 1,110,000 0 1,110,000
403 AEXISH M E X201 E 1,110,000 0 1,110,000
01 AtXIESHA=Z2E X 1,110,000 0 1,110,000
O=&d Fa =2 A 1,110,000, 000& 1,110,000
sy =4 1,125,000 0 1,125,000




AR MABHALS
2 M SNEHY
oM NYUEYR YL AYTEIRI] CEERED
RS - A - FEH - GA(SH) - HRAY - BHYS 0l &+ o HI RS 2
Hos2y &4 s 750,000
Al 375,000
403 X HHMS U201 H 1,125,000 0 1,125,000
Fas 750,000
Al 375,000
01 AtXIEH A= E X 1,125,000 0 1,125,000
OCeEE MHosad =4 1,125,000, 000& 1,125,000
s 750,000
Al 375,000
NI (MS-XH)(HEAY) 2,697,500 1,200,000 1,497,500
403 X SHHMSHE0IH 2,697,500 1,200,000 1,497,500
01 XS A2E = 2,697,500 1,200,000 1,497,500
OZ3s SEA =4 2,697,500, 000& 2,697,500
gtalot=f =di2 32 XA 50,000 0 50,000
403 X HHMSH=01H 50,000 0 50,000
01 AHXESHAZ2ER 50,000 0 50,000
OotgdsH Sd2 H2AZ2E XA (00l
218HAl) 50,000, 000& 50,000
LS HAHT 723 39,295 0 39,295
= 22,454
Al 16,841
403 X HHMSHE01H 39,295 0 39,295
= 22,454
Al 16,841
01 AtXIE M A= E X 39,295 0 39,295
Ol ESMACHR (A H) 39,295,000& 39,295
= 22,454
Al 16,841
HE 2 HZH 62,900 62,780 120
= 10,411
Al 52,489
A (SXE D) 35,120 35,000 120
= 10,411
Al 24,709
MNREZIIEB 2F(MHHFEX) 35,120 35,000 120
= 10,411
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